Voucher

Voucher Number:Priority:Check Number:Date Paid:195840Normal670-4125612/15/2019

Charge To: Currency: Amount Paid (\$)

12087-25201-5608971-113 USD (\$) 25,712.00

Vendor Information

Company Name:

Fashion & Craft
E-mail Address:

A-6, lal bahadur nagar
City:

craft@datainfosys.net J.L. Nehru marg

Telephone Number: State/Province: Postal Code:

91 141 553154 or 91 141 720527 Jaipur 302018

Address:

Fax Number: Country/Region:

India

Document List

91 141 553154

Summary:

Beaded Spring Flower Vest - Women's

Deduced Opting Flower Vest Women's							
Document Number		Description					
3289144-7601 Purch		ase Request					
			Amount Listed on Document	25,712			
368-1542-7854	Purch	hase Order					
			Amount Listed on Document	25,712			
912-84679 Reco		ving Report					
			Amount Listed on Document	n/a			
n/a Inv		ce Request					
			Amount Listed on Document	25,712			

Notes

The company replied to our Invoice Request and indicated their accounting system does not produce invoices. They accepted the terms and pricing included in the Purchase Order.

Sign and print your name. KAREN TAYLOR 441-2417

ACCOUNTS PAYABLE MANAGER

ıre′

Date

Purchase Requisition

Request Number: Priority: Date Requested: 3289144-7601 Normal 7/27/2019

Charge To:

15237-56213-8146523-454

Date Required: 11/19/2019

PAID

Submitted By

Name: Takumi Nakamura

ID Number: 665-8542 E-mail Address:

tnakamura@ew.jp
Telephone Number:

045-476-0848

Address:

Sun Hamada Bldg., Shin-yokohama

Citv:

Yokohama City

State/Province: Postal Code: Kanagawa 1-19-20

Country/Region:
Japan

Suggested Supplier Information

Company Name:

Fashion & Craft

E-mail Address:

craft@datainfosys.net

Telephone Number:

91 141 553154 or 91 141 720527

Fax Number:

91 141 553154

Shipping Information

Allow Partial Shipment

☐ Ship to Address Listed Above

Ship Method:

Ground

Deliver To

Name:

EarthWear Receiving - Japan

E-mail Address:

Japan.Receiving@ew.jp

Telephone Number: 045-476-0837

Address:

Kohoku-ku, Shin-yokohama

City

Yokohama City

State/Province: Postal Code: Kanagawa 1-19-22

Country/Region:

Japan

Itemized List

Currency: USD (\$)

Summary:

Beaded Spring Flower Vest - Women's

- cancer opining											
Item Number		Description									
		Part Number		Quantity		Unit Price . (\$)		Tav /0/41		Pre-Tax Price (\$)	Total with Tax (\$)
6489	Bea	aded Spring	Flow	er Vest	(Petite)						
	1427-200		136	21.00			0.000 2,85		6.00	2,856.00	
6489	Bea	Beaded Spring Flower Vest (Medium)									
	1427-300 248 22.00 0.000		5,456.00		5,456.00						
6489	Bea	Beaded Spring Flower Vest (Large)									
	1427-400 420 22.00 0.000 9,240.00		9,240.00								
6489	Bea	Beaded Spring Flower Vest (XL)									
	142	27-500	285		24.00		0.000)	6,84	0.00	6,840.00

Subtotal (\$) 24,392.00 **Tax (\$)** 0.00 **Shipping/Handling Cost (\$)** 1,320.00 Total (\$) 25,712.00

Notes

Signatures

Sign and print your name.

TAKUMI NAKAMURA

665-8542

Employee Signature

Approval Signature

TSUBASA WATANABE 665-5129

Purchase Order

Priority: Date Requested: Request Number: 7/27/2019 3289144-7601 Normal

Purchase Order Number: Date Ordered: Priority: 7/27/2019 368-1542-7854 Normal

Charge To:

15237-56213-8146523-454

Date Required: 11/19/2019

Vendor Information

Company Name:

Fashion & Craft Telephone Number:

91 141 553154 or 91 141 720527

Fax Number:

91 141 553154 E-mail Address:

craft@datainfosys.net

Address:

A-6, lal bahadur nagar

J.L. Nehru marg

State/Province: Postal Code: Jaipur 302018

Country/Region:

India

Shipping Information

Ship Method: Allow Partial Shipment ☐ Ship to Address Listed Above

Deliver To

Name:

EarthWear Receiving - Japan

E-mail Address:

Japan.Receiving@ew.jp

Telephone Number: 045-476-0837

Ground

Address Line 1:

Kohoku-ku, Shin-yokohama

City:

Yokohama City

State/Province: Postal Code: 1-19-22 Kanagawa

Country/Region:

Japan

Itemized List

Currency: USD (\$)

Summary:

Beaded Spring Flower Vest - Women's

Item		Description									
Number		Part Number		Quantity		Unit Price (\$)		Tax ((%)	Pre-Tax Price (\$)	Total with Tax (\$)
6489	Beaded Spring Flower Vest (Petite)										
	1427-200 1		136		21.00		0.000 2,85		6.00	2,856.00	
6489	Bea	Beaded Spring Flower Vest (Medium)									
	142	27-300	248		22.00		0.000 5,4		5,45	6.00	5,456.00
6489	Bea	Beaded Spring Flower Vest (Large)									
	1427-400 42		420		22.00		0.000 9,24		10.00	9,240.00	
6489	Beaded Spring Flower Vest (XL)										
	142	27-500	285		24.00		0.000)	6,84	10.00	6,840.00

Subtotal (\$)	24,392.00
Tax (\$)	0.00
Shipping/Handling Cost (\$)	1,320.00
Total (\$)	25,712.00

Terms

- Payment in full in 30 days of receipt of shipment
- FOB Shipping Point

Notes

Signatures

Sign and print your i	name. YAMATO YAMADA 213-7416	3/23/2019
Employee Signature		Date
市场 十	TAISEI TAKAHASHI	
可怕人州	213-1669	7(27(2019
Approval Signature	AUTHORIZED PURCHASING AGENT	Date

Receiving Report

Purchase Order Number: Priority: Date Required: 368-1542-7854 Normal 11/19/2019

Receiving Report Number: 912-84679

Priority: Normal Date Received: 11/19/2019



Vendor Information

Company Name: Fashion & Craft

Shipping Information

Delivered By

Carrier:

Orient Express Ship

Bill Number:

957-2230-652

Delivered To

Address:

Kohoku-ku, Shin-yokohama

City:

Yokohama City

State/Province:

Postal Code: 1-19-22

Kanagawa
Country/Region:

Japan

Itemized List

Summary:

Beaded Spring Flower Vest - Women's

Item		Description	Quantity Received		
Number		Part Number	Qualitity Received		
6489	Beade	ed Spring Flower Vest (Petite)	126		
	1427-200		136		
6489	Beade	ed Spring Flower Vest (Medium)	240		
	1427-	300	248		
6489	Beaded Spring Flower Vest (Large)		420		
	1427-400		420		
6489	Beade	ed Spring Flower Vest (XL)	205		
	1427-	500	285		

Condition/Notes:		
Good Condition - No damage	to packaging	
Signature		
Sign and print your name. 佐々木翔	SHOU SASAKI 562-1564	11/19/2019
Employee Signature	RECEIVING AGENT-JAPAN	Date

Invoice Request

PO Number: Receiving Report No.: Received Date: Request Date: 368-1542-7854 912-84679 11/19/2019 11/30/2019

Description:

Beaded Spring Flower Vest - Women's

Vendor Information

Company:

Fashion & Craft
E-mail Address:

craft@datainfosys.net

Telephone Number:

91 141 553154 or 91 141 720527

Fax Number:

91 141 553154

Address:

A-6, lal bahadur nagar

City:

J.L. Nehru marg

State/Province: Postal Code: Jaipur 302018

Country/Region:

India

Requested By

Name:

Hikari Hayashi ID Number: 441-5326 E-mail Address:

hhayashi@ew.jp Telephone Number: 045-476-0820

Itemization

Part Number	Description	Unit Price (\$)	Quantity	Total Price (\$)
6489-1427-200	Beaded Spring Flower Vest (Petite)	21.00	136	2,856.00
6489-1427-300	Beaded Spring Flower Vest (Medium)	22.00	248	5,456.00
6489-1427-400	Beaded Spring Flower Vest (Large)	22.00	420	9,240.00
6489-1427-500	Beaded Spring Flower Vest (XL)	24.00	285	6,840.00
			Subtotal (\$)	24,392.00

Notes

Shipping and handling \$1,320.

If we receive no response to this request within 10 days, we will assume the terms and prices of the Purchase Order are agreeable.

Signature

Sign and print your name.

林輝

HIKARI HAYASHI

441-5326

11/30/2019

Currency: USD (\$)

Signature

ACCOUNTS PAYABLE AGENT-JAPAN

Date